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15 5 NOTES o k5 1017H the power of speech SrmiEH | 117 HICRH)
HesJ

15 2 NOTES ®_Lt»5 1917H bothe Aand B both Aand B
178 DmseEkr) o ks 597H , five times eight Hils
225 Eb417H x plus 3 x plus three
40 H AXD En 99T7H demmonstrates demonstrates
43 H 0 1217H T Wit
46 H y=ax+b?DLh5 81TH [two over three] LIS
48 H y=ax® O L5 84TH, 91TH | [one over three] ElIES
51 5 NOTES O 50 447H B OIS A G 1 OFE OIS A G
53 5 EXERCISE 51 D) [ | meters [ | meter
55 H 6 217H. 517H [four over three] HilR
555 _E»5 61TH Tifi LS
55 H  Imifd - 7R L kD7) D L | [four over three] S
o 417H
55 B [Hifd - (Afl72 EosR$J7) DL | [one over threel HilR

05 81TH, HHIT

60 H 25 81TH 91.44 meters 91.44 centimeters
605 ENH91TH 1,760 yard 1,760 yards
64 H Dialog6 ® 1147H the times the time
69 H X3 Jithi & IR |
77 2 EXERCISE 7-2 D(4) an material a material
84 B Dialog8 ® 1147H That’ all T remember. That’s all I remember.
101 H X 10 PEE HERT)
105 H FRO5ATH Aay AA 1
133 H Answers Reading1 @ 3 Three to the power of four. | It means the product
[Three to the fourth power.] obtained when a number is
multiplied by itself a certain
number of times.
137 H Answers EXERCISE 3-5 ?™(5) | the triangular cone the triangular pyramid
137 B Answers Reading3 @ 4 They have the two halves that | It has the two halves that are
are exactly the same. exactly the same.
137 H Answers EXERCISE 4-3 ™(2) | y = 0.8x y equals zero point | y = 48x y equals forty-eight
eight (multiplied by) x. (multiplied by) x.
139 H Answers EXERCISE 52 ™(5) | A equals m multiplied by ten | A equals 7 multiplied by

squared. three hundred and
fourteen square centimeters

five squared. seventy-eight

point five square centimeters




